Name §Ch (aﬂSI{j Date ®

Mr. Schlansky Algebra II

Advanced Trig Ratios

1.If cos@ = Emd @ is in Quadrant I, find: y
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2. If sinf=—= and @ is in Quadrant III, find:
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(") 3.Iftanf== and 6 is in Quadrant I, find:
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5. Angle & is in standard position and (3,4) is a point on the terminal side of €. Find: )
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6. Angle & is in standard position and (4,—7)is a point on the terminal side of 2. Fmd
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7. Angle 6 is in standard position and (—5,~12) is a point on the terminal side of &. Find:
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8. Angle & is in standard position and (—2,3) is a point on the terminal side of €. Find:
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9. A circle centered at the origin has a radius of 10 units. The terminal side of an angle, &, ( )

in Quadrant I at point C. _The y-coordinate of point C'is 8. Find:  —~_  \__
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10. A circle centered at the origin has a radius of 4 units. The terminal side of an angle, &,
intercepts the circle in Quadrant IT at point 2. The x-coordinate of point P is 2. Find:
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11. A circle centered at the origin has a radius of 6 units. The terminal side of an angle, 8,
intercepts the circle in Quadrant VI at point P. The x—coordinate of point Pis2. Find:
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12. A circle centered at the origin has a radius of 9 units. The terminal side of an angle, &,
intercepts the circle in Quadrant II at pomt P. The x-coordinate of paint P is-7. Find:
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13. The point (%,—%) lines on the‘lirit_gi_r(':le. Find:
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14. The point (x —zj /lines on the unit circle where x >0 . Find:
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